
    2( =  1-)س    لــــــــــــــو 

 2 7=  1 –س 

  1+  49= س 

 = س 

 

 5 لـــــــــــو  -  45   لـــــــــــو 

  9  لــــــــو          =                                 لــــــــو  = 

    =2 

45  

5  

3 3 

3 3 

7 



 

    100=     س 3             

 

 س   =                       

    =4.19  

ـــــــو       =     3ب لـــــــــــــــــو     +       أ لــــــــــ

ـــــــــــــو            ب لـــــــــــــــــو       3+      أ لــــ

س 3=     ص   + 

 100لـــــو 

 3لـــــو 

5 5 

5 5 



 



 

 8-1      120               12          8            6                             

  2÷  120! = 2! ÷ 5 ب8-2 

 تبديلا  60= 

1  +1 

1 
  

 د8-2

 

 

 2×  6ع =       

    768  = 6  ×2 

 ن   2=   128        

 =    ن         

  7= ن     

 تحتاج الى سبع اشهر  

 128لــــــو

 2لــــــو

 ن

 ن



 

 2( =  6)  س +     لـــــــــــو       

     42 =   6س +           

  10=   6 – 16=   س           

  ( 1 - 10لـــــــــــو  ) =   ( 1 -)س     لـــــــــــو 

    9لـــــــــــو    =  

  =2 

  

 

4 

3 3 

3 

5 



 

 

8-3 

8-3  
     )    ( × )     ( 

                                                      

 

1 3 

5 4 



 

 (  !2×  !2 ×! 2! ÷ ) 10 ب8-2 

 تبديل 453600= 
 8-3       43           85          420        1050 

 
 الخارجين من السباق   9=  9- 18 

  9المتبقي من المتسابقين  

!    9تبديل المستابقين المتبقين =


